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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 4,583 2 6,900 3 5513 4 7.427
X 3 X 2 X 6 X 2 1
2.
3.
4.
5 8,837 6) 2104 ) 3,178 8 9,052
X 9 X 4 X 3 % 4 5.
6.
7.
8.
9 6,463 100 7.180 1) 6,133 12) 1,253
X 3 X 9 X 9 X 2 .
10.
11.
12.
) 7,426 14)  1.470 15 8,214 16) 3,839
X 2 X 7 X 2 X 9 13.
14.
15.
16.
1) 3977 18) 8692 19 2790 200 9,109
X 9 X 9 X 3 X 3 17.
18.
19.
20.
1-10 |95190(85|80|75| 70| 65|60 |55 |50
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Multiplication (Vertical) Name: Answer Key

Solve each problem. Answers

1) 4,583 2 6,900 3 5513 ) 7,427
x 3 x 2 x 6 x > . 13,749
13,749 13,800 33,078 14,854 , 13,800
3 33,078
. 14,854

5 8,837 6) 2104 ) 3,178 8 9,052
X 9 X 4 % 3 % 4 5, 79,533
79,533 8,416 9,534 36,208 . 8,416
7 9,534
8 36,208

9 6,463 100 7,180 11) 6,133 12) 1,253
x 3 x 9 x 9 < o, 19,389
19,389 64,620 55,197 2.506 o 64620
11 55,197
1. 2,506

13 7,426 14) 1,470 15 8,214 16) 3,839
§ , § , y 5 y o 3 14,852
14,852 10,290 16,428 34,551 w 10,290
= 16,428
16, 34,551

1) 3,977 18) 8,692 19  2.790 20) 9,109
y 9 y 9 y 3 y 3 17 35,793
35,793 78,228 8,370 27,327 s 78228
19. 8,370
o0, 21,327
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